WALLABY PRO FloorRA & > FHHAILTFIE UM600658

UM600658



Contents for Kits: E534462, Wallaby Pro Self-Service Floor Stand Top

Stand
Qty. 1

T

Cable tie,
Medium
Qty. 15

Cable tie, Large
Qty. 2

Printer Hardware Bag

VESA Spacer and Screws Bag

Qty. 1 Printer Bracket 3 Qty. 1 VESA Spacer
Qty. 1 Printer Bracket 4 Screw. M4xé. Pan Head
Qty.4 ' ! !
Qty. 1 Printer Chute 2 Cross Recess, Black
Qty. 1 Printer Chute 3 VESA Screws- Otv.4 Screw, M4x14, Flat Head,
Length 14 Y. Cross Recess, Black
Qty. 1 Printer Chute 4
. . VESA Screws- Oty 4 Screw, M4x18, Flat Head,
Qty. 1 Printer Filler Length 18 Y Cross Recess, Black
Screw, T3x6, Pan VESA Screws- Otv.4 Screw, M4x22, Flat Head,
Printer Screws- Qty. Head, Cross Length 22 Y. Cross Recess, Black
Recess,
Length 6mm 4
Sheetmetal type,
Black Cables
Screw, T3x12, Pan Qty.2 Cable, SMA Extension, 18"
Printer Screws- Qty. Head, Cross
Length 12mm 2 Recess,
Sheetmetal type, ECMG4 Bracket Bag
Black
EPSON TM-m30 Screw, T2.5x80r10, Q-1 | ECMGA4 Bracket
I/ Qty. | Pan Head, Cross
Printer Screws- 2 Recess, .
Length 10mm Sheetmetal type, Printer Door (ADA) Bag
Silver Qty.1 Printer Door (ADA)
Qty.4 Screw, M3x6, Pan Head, Cross

Recess, Black

Android Backpack Screws Bag

Qty.4

Screws, M4x27, Flat Head, Cross

Recess, Black

© Copyright 2022 Elo Touch Solutions, Inc.




Contents for Kit: E989512, Wallaby Pro Self-Service Floor Stand Base

Floor Base
Qty. 1

,\ _

L-Key
Qty. 1

Mounting Screws Bag

Screw, M5x15, Socket Head, Custom,

Q-8 Stainless
Wheel Kit Bag
Qty.2 Wheel Assembly
Qty.6 Screw, M5x6, Flat Head, Cross

Recess, Black

© Copyright 2022 Elo Touch Solutions, Inc.



ER)RRBITHRGRICEY T
FERITDHEIICEFTASNTNET,

AB Y FEENMNH43kg (Top28kg/Base15kg)
EEVLDT, FELTRYFE>TTELY,

Box PCARAD IS4y hE—BRYSNT &
HAAAEREDBBIZTEFET,
#IZBox PCERWG WS EIX, BRY A FAETT,

EE 3IDFDORTEHNLT, TS37Y FESALTTEL,

2RDADENLT, 72 FARIILEDLIETT, EITHBLEIFT,

mYsd,

© Copyright 2022 Elo Touch Solutions, Inc.



BH#E v MMwheel kit)ZERT H5E8F. RA—XFTL— kI
“Wheel Kit" ZFRD6AD T, HiFZEELET,

EERAIVREBETSBEE. SFELTTHSLY,

AB Y FAR—RIZERD & S5 [CTop# ZE Y fF1+. “Base Mounting Screws” £
NDIR2EKDA T ZEES>T, BELET ., TOE. ARESNA TS LKey &
EoT. BIMEDOTT UL,

Fr. BEICKLT, 7O9¥A Ty bZERIL, RETAHELIICLTLLEELY,

© Copyright 2022 Elo Touch Solutions, Inc. 5



BRBHFDOFRCERL. F7ERIT.

REELFET,

wrEmOSH>OBET K7 %

5 Android 1) =X ZH]Y F+5158&
(FDMDBEIE, 6ICAFYTLTTFELY)

eV
RYftFHmEEIC
[FEBLTTFELY,

F9. Android i1 —XD2EA D7 —T IV AN—ENL TS,
RIZ, VESARR—HHF14mm®D 12 (VESA Spacer and Screws&R)%
ALTLER®OKSIZ, ESY modelsADREFE>TRYMFIFTTELY,
BTLED 16 [TRFYTLTTELY,

© Copyright 2022 Elo Touch Solutions, Inc.



6 Windows 22 1)) — X B Y 1+ 51546
(E=2—MNIBE. 8ITAFT Y TLTTFELY, )

F—TI)ILhIN—

Windows 23 1) —XDIHE. VESATE T7H#WMY T 5812, ACTE T4 %
WY RITEBHENRHY F9,

F0=t, £TLR., FEOFSIIANTE5N L, RIZ, ACTETL2HN
DDCHr— TN ZEBDRBENLSITEL T, ACTE TR E12V ) —XIH#H
L. BEY—JILAN—FWYHFFIFTTTFELY,

FE)
BYFIFHmE
[CIFEBELTTF
I AN

VESAR R—4%&22mm® U (VESA Spacer and Screws® )%
AWTER®DOESIZ. ESYmodelsADNRZEZE > TRY T TTFELY,
BTLES 16 ISRFYTLTTFSEUL,

© Copyright 2022 Elo Touch Solutions, Inc. 7



8

R
RYFIFHmE
[CIFFELTTF
I AN

FF., AYFEZSA 28RO —TILAN—FHLTLESL,
RIZ, VESARR—H%18mm® F P(VESA Spacer and Screws® W) %
AWTLER®DOKSIZ, ETmodelsADINZEFE > THRYFIFTTTELY,

{fBL. ET1502L/ET2002L% EVESAtE VB —ERFE VA —MBEAT L TLY
HWEISZEY 1T BBE1E. ESY ModelsEHDNWNEZFAL TTELY,

2R M IERFEMASR P (VESA Spacer and Screws®N) & VESAR R—4
EBHEEDRORIZRY F1F, BMEOFES,

© Copyright 2022 Elo Touch Solutions, Inc.



IO FR—ILIE
2454278 A

TE<o Y bk—ILIE
22F LI T

FF., EZE—ANYEKREEREZVEDTA AT LA E7DRIZE| >#hT,
TRIO R D28 fFFEfEH. REICLEBORDERIFED S,

11

NEBICACT # T2 EH-MT BIBANERENTOET,

FIIZACTETREBML, o v o T—THERELLEL
ESICLTTFELY,

BRY Yy 7L COEMICEREEEFT &, SHMIASIZETE
REMKICTEL-OREAT -ETYLETS,

© Copyright 2022 Elo Touch Solutions, Inc. 9



BHEREDRIZAST., ACZ7E T2DDCERcable ZEC#R
LTFEL, HFRXMNOESS 2D CEET %
CEEHRLET,

13

ACT7 # TR ERBRKMEERIZ, BRA Y TEHEMNT 25N HY £
DT, BEHFHNBRIVT 2 EHEINDIBEAIE. CRATEL, £A
TERBEIE. IOV T—TOr—JILE A TOEEX#HELET,

© Copyright 2022 Elo Touch Solutions, Inc. 10



ByFEZL—%FEHAESNBEE HDMI cable & ISENANCIUSEIEIEEBIE =

BAyFaALE1—4H|SeriesEERAINDIEE. N FHOLSICEEL. FRKXHN OEPH%E. 'CEIE LTTFELY,
BB L EO S5 IR L. BEED OB E. - ) 7
LTTFELY,

© Copyright 2022 Elo Touch Solutions



TV —ZNET 556
(EALGZWNGEEROASELTIEZSL, )

SyFELICWLT, TUVE—F7ZEBEBRLTTEL,
BEE)S Y FORIFIETIN, SADGEDHICHERTLTHY ET,

2RDAOENLT, LRDESITHN—ZHLEFET,

© Copyright 2022 Elo Touch Solutions, Inc. 12



18

TV oB—lr—DFIETEAL, HEHIFTMYNLET,

glo
19

Bt LS ICEREL. R4V RESASIYHLT
TEW, SEXM OB %, FoIdWET TEELTTEL,

© Copyright 2022 Elo Touch Solutions, Inc. 13



20 Android 1 1) —X/Windows i2> 1) —XDIEE

q’&ﬁﬂﬁ?é%‘%lis LROKLSICEHRL. FEXM D
BaZ. TEELTTFSLY,

© Copyright 2022 Elo Touch Solutions, Inc.



30 T =RNET 55E
(TYAZFERALEWVGEIZ4IZAFYTLTTEULY, )

Bracket 1

Bracket 4

Bracket 2
Bracket 3

ETVURITEDET, 737y FEERLTRYMIFLTTEL,
Epson TM-m303 ) —X/TM-m55: ZE4 L T, R 7Y T3BITHATTF I, (TM-m30/TM-m301I/TM-m301I-H/TM-m30II-H& LTM-m55% & 1)
Star mC-Print3: . Printer Hardware” &[N MBracket 4 [ZXH# L. XA Tv T34[ZHATT SN,

Star TSP100/Star TSP654: Bracket2 ZEHU 4 L. BIZ4DDRTUEH LT, Bracket 1 ZWMYSNLFET ., RIZ,. RUYUANLEROEFRWLNT, R
B"A"T. Printer Hardware” ¥ MDBracket3 #EE L. ATFTv F35IZHATTELY,

Epson TM-T88: Bracket 2 #HR Y4t L. EIZ4DDA T %4 LT, Bracket 1 ZWMYSNLET, RIZ. MYSNLE=RCZRAWNT, ROHEE AT,
Printer Hardware” RN MBracket 3 #EE L. AT v F36ITHEATT ELY,

Epson L90: Bracket 2 ZEYU S L. X7 v F37ICEATT LY,

© Copyright 2022 Elo Touch Solutions, Inc.



31 elo

Epson TM-m30/ TM-m30 I Star mC-Print3 Star TSP100/
/TM-m30I1/TM-m55 Star TSP654

Epson TM-T88 Epson L90

© Copyright 2022 Elo Touch Solutions, Inc. 16



Epson TM-m30/TM-m55HR Y 4 [+

TM-m30MD 1B & "Printer Hardware" BRI D 6mm®D = 24K % ALY
TFY) a8 5—JICBEEL. ATy T38IZRFYTLET,

TM-m30 I /I B2 U'm55MD /& (X" Printer Hardware"®& WM 2.5mm
DR2KEF=RANWTTY v r—2ICEAEL, AT F38I2R
FyILET,

elo
34

“Printer Hardware" RN D6mmD R 2K EHIWNT T 45—
CIZEAEL. ATV TI8IZRAXTYTLET,

© Copyright 2022 Elo Touch Solutions, Inc. 17



35 Star TSP100/Star TSP654 B V) {5+ 36 Epson TM-T88 Installation

Epson TM-T88

"Printer Hardware" R D6mmD R VARZHINT 2" —9 Snt=

. BT, T —>Iz L. RTvF38IcRFvTL 0
“Printer Hardware"SR D 12mm®D R D2KZRAWNT T >4 i )8 T IIcEE ki F E

F—IUICBEEL. ATV T38IZAXTY T LET,

© Copyright 2022 Elo Touch Solutions, Inc. 18



elo
37 38

TYUUBARADACT TR 4. ACT B T2 OEMIEFTIZE
Y AHENFRETT,

"Printer Hardware" @A D 6mmD R CAKZRAWNT T U2 45—
CIZEELET,

© Copyright 2022 Elo Touch Solutions, Inc. 19



39

T UABIEDR A THUSBDEEIL. ISETIE % 4
BOEBEDESC. BELTTEL,

Fl=. DCERT7—ITILILHBDBEDLSCEBRLTT S,

MYSNLTW=TY o8 r—C2BERYFITET,

© Copyright 2022 Elo Touch Solutions, Inc.

20



41

TR a— hDER

TYBR—=)R—a— k& Chute 1 NEEIhEREATL
FY, CHEHAISNDIRRIZIEC T, "Printer Hardware"S R D Al
DYa—HFZIEBLTTEUY,

Epson TM-T88, M30, EU-m30, L90: ZE R &
Star TSP100, TSP654: Chute 2IZZE &

Star mC-Print3: Chute 3IZEE
TYVERER: 74 7—TL—MIERE

BE, LBAN—ZFREL, ROEHO. TUUELFREL, BE

ERR

© Copyright 2022 Elo Touch Solutions, Inc.

21



V.lkcJ Android Box PC(Backpack)ZHX Y 1 [T 5155
(ERALEWMGEIF4912R Xy D)

tR® 3MFRORTESNLT, T35y FESL,
ATwv 745 |ZH#ED,

© Copyright 2022 Elo Touch Solutions, Inc.

22



44

Android Box PC(Backpack)&EDACT 4 74 % L RID#EAMIGFTICEE L T
TELULY,

glo
a5

Intel NUCAEE 1

ARdreidiBoXPC(Backpack) 15 & (&, “Android Backpack Screws &K ®
FPTITZy MZEEY b,

EZ)Intel NUCDIZEE L. M3X8mm®D R 2K FERIIR) TERE L TTF &L,

© Copyright 2022 Elo Touch Solutions, Inc. 23



Android Box PC(Backpack)ZWiFii@{E CHEAT SEIL. WIiFIiESME
FRETDH-OIC. EROK&SICEEEL.
WIEPZT T = sl Y 5 C ENTEET,

Android Box PC(Backpack)ZfERAFICIX. ERD K5I
-DC cable (AC7 &7 %)

USBEANEEBIRIUSB hub)

-HDMI cable (2 v FE=42—)

AN Backpack, HEIZIELT)
EEELTT I,

© Copyright 2022 Elo Touch Solutions, Inc. 24



48

EH 3MEIDRTT,

BERYMTEITS7y FNEET 5.

49

F7ZBAL. BRABHKHFIOR D ZRHED S,

© Copyright 2022 Elo Touch Solutions, Inc.

25



RUSALTW=0Y MAARIIVERERY 1T,
2RO EFE-LTEEL. T

elo
51

WEIZISCT, BB LEDOMEREITOTTELY,
FrvTDTITHIR - RADNEFE>TEEIRFLLTHIELHELETS,

© Copyright 2022 Elo Touch Solutions, Inc. 26



	スライド番号 1
	スライド番号 2
	スライド番号 3
	スライド番号 4
	スライド番号 5
	スライド番号 6
	スライド番号 7
	スライド番号 8
	スライド番号 9
	スライド番号 10
	スライド番号 11
	スライド番号 12
	スライド番号 13
	スライド番号 14
	スライド番号 15
	スライド番号 16
	スライド番号 17
	スライド番号 18
	スライド番号 19
	スライド番号 20
	スライド番号 21
	スライド番号 22
	スライド番号 23
	スライド番号 24
	スライド番号 25
	スライド番号 26

